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# Methods to find(solutions) of Quadratic Equation
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#LP : Solve the following quadratic equation for x: / 3 x>#10x+7,/3=0
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#LP : Solve the following quadratic equation by factorization method :

i.3*-2ax +a’-b%=0

2 - 0% + a’-b) =0

3 ')t (a4, (a@x%
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#LP : Solve the following quadratic equation by factorization method :

abx +bx-a’x-1=0
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#LP : The diagonal of a rectangular field is 16 meters more than the

shorter side. e 4 meters more than the shorter side, then
find the lengths of the side of the Field.
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# Discriminant Method of Finding Roots :
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hat value of k, the equation 3x* + 2x + k = gwill have real roots

D 77 0

b’ Nax 770
(2) =Y (%) (¥) 70

4-1ak 7,0

#LP : For

d) None of the above




: If the roots of (b-c)x* *(c-a)x + (a-b) = O are real and equal than

whlchof

the following is true: (D J

g)%g g:z Cﬂ‘fb*c) AR E T *lab%lbc’(}cwj
c)2c=a+b

d)2b-a-c
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#LP: In a flight of 600 km, an aircraft was slowed due to bad weather.

Its average speed for the trip was reduced by 200 km/hr and time of
flight increased byaO-@utss find the orlgmal duration of fii ight.
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#LP: A bus travels at a certain average speed for a distance of 75 km
and then travels a distance of 90 km at an average speed of

more than the first speed. If it takes 3 hours to complete the tota
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journey, find its first speed.
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#LP : The numerator of a fraction is 3 less than its denominator. If 1is
added to the denominator, the fraction is aecreased by 1/15. Find the
fraction.
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#LP : The speed of a boat in still water is 8 km/hr. It can go 15km
upstream and 22 km downstream in 5 hours. Find the speed of the
stream.
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#LP : The sum of squares of two consecutive natural numbers is 313. Find
the numbers.
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#LP : The sum of two number is 15. If the sum of their reciprocal is 3/10.
Find the number.
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